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~ The figures
for the gu.estwns

1. Answer the following'questionS briefly ; 2x5=10

(@) What is the difference between previeir} ;
mode and presentation mode?

(p) What is the difference between Group -
: and Lock command in InDesign?

- (¢ Explain the steps requiréd to-.set up

margins and columns in InDesign.

8D/ T2 ( Turn Over )




(2)
(3)
(d) What d .
0 We mean b . | -'
work? Y pre-flighting our 4. What are Glyphs? What is the difference
(e) Name five petween a character style and a paragraph
formattin controls in the ch style? How do we create tabs and leaders in
§ control panel. aracter InDesign? ~ 1+2+4=7
2. What
are the ) or
docum Various fi
differe ""Pt setup dialogue beatures of the What is the purposeé of the gap tool? How can
pastebnce between OX? What is the we setup a new gradient in InDesign? What
your oard? Elaborate o, t;pread and a are the three general steps involved in
' oWn custom Workspac: Steps to create applying a swatch of color? 2+2+3=7
) 2+2+3=7
O ' 3 0
What is an ' 5. Explain the steps in converting text to a
different typ overset text?. Wh table. How can we add/delete rows in a
What is 5 PeS of text threadin Mat are the table? How can We edit borders and cell
~ Jump line g In InDesign? strokes in a table? : 4+1+2=7
3. Elab Page number?  2+3+2=7
* 0 +2= .
shaper?;e Ithe PTOCESS of creni Or
the Objec:‘Desxgn What ; cating a triangle Write short notes o the following :  3+2+2<7
Clipping 1, . COm;the purpose of _ 4 Trackin
images? ath usefy] when and? How is (a) Kerning and Tracking
working  with (p) Effects T
4+2+1=7
Which t Or (© Pen Tool
ool
Explain the <5 Us
. e to
Images into s;:gs Tequireq ¢, Create frames? olole
Fitting co esign. w, Import multiple
images tn;m “nds that hat are the various
within thej el
8D their frames?l’ us to resize
/72 140+4=T : | :
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